EARAZROREIERT — 2 N— XBISY —F 20201838 (£) 12M@]1IE3H

m;;fg%uga) LELEBALS C1= 5% (xwlw | mEmml - |5 @) w8
[A&4£] 1 7% :1,300,000 @ 237 :494,000 @ 33 :325,000 43#&:195,000 @ ~ 5 7% :156,000 [
B\ BB BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
= SHER - - R (i
1lgliol F71 54 pEXS o4 54?3 2 1.(3_6).5 8-8-1-2 | 38.7 2 f79) 5%%; (1)
a4 FxSv b B:o7 V775 TR
=5 ¢ Ll p £ :36. -1-1- . — AEEZE (15
25|57 14 —TRNAZIL "4 Ko (11316/2% B 1 5_362) HaEL
L:d4y bUFR—0O By HLXT7I2 R 75 Kits
NN — I3 : —7-3- - EMEHPB (HF)
38l AZI ko — 4 6 L 1.(357>.8 6-7-3-3 | 39.9 9 ?—549) mmnz (
LU—FHITYL BiayL N 1— S
N FIFHEARER : 04— - ELEE (R
4 4| BV RAFTY # 5 NN 1(.13/72.)9 2-2-4-5 | 40.0 8 (4_677) el
A= X121 B:2h3IVTU—-> &I E—
S tr 4 | B 1:38.1 4-4-5-4 | 40.1| — 3 423 | WUEE (1)
5 3 AR - 56.0 (1 1/2) (+2) SEF RS
RiEPTOYY BFILIR—L INTF—L
o BRE :38.2 57— . - 2 NHRETE (GRFN)
617 7| 7wiNy #H 5 ] 1(13/82) 5-5-7-6 | 40.0 6 (4_85) it
LHIRT4 5 B:argI759321 P e
— s e PEAIIE : -10-7- - 1eiEtEae (1)
7l7lg| v5E-U i 5 B 1(73?:50, 10-10-7-7 | 39.8 5 ;4_522) e (
RF4—TTUTLT BTAN—Ta HEHS
= - -9-10- - B 5
gl11 Vv H o4 E%%mli 1.(328).7 9-9-10-10 | 39.9 10 | 446 Egé (111es)
RiALTIAT BTHLFITIN 0| Kassg
9 o | UIN=HA K/3—7 i 7 g%#ﬁt 1:(318).9 7-6-9-9 |40.5| — 7 467 gg%i (8%n)
LT RRAV L= BOd—IRTSAIXF4T25 (-6) REHS
o= £ o £ 8 | RHtR 1:39.2 3-3-6-7 |41.2| — 4 514 | EH—RI (E)
10 6 KZ9—> 56.0 (1 1/2) (-4) (#%) RK>=x
L4 BF—%A0Y— HA—L— - TvIX> - T7— LERS
® 1 —F—@EBIERL
1T=7r= 5,4,6,3,7,9,2,10,1,8
2a=5"= 5,4,6,3,7,2,9,10,1,8
== (5,10),9,4,3,6, (7,8) ,2,1
40—F— 5,10,9,3,4,7,(6,8),2,1
[ /N
B 10 260M 714K 5-10 120M B 5-8 170M JEE 5-9-10 5,130
B B 10 110 9-10 3,490 e B 8-5 300M 3B 10-5-9 17,710
5 1004 5-9 3,100 B E 5-10 150H
9 1,230M B H 10-5 420

ARICOVWTRDTEEERROODE. TR LI,



